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1. Select the most appropriate synonym of the given word.
Profess
(A) Assume
(B) convince
(C) Declare
(D) predict

Answer: C
2. Select the most appropriate option to fill in the blank.
There was a story about a kind tree and a little boy. He used to sit the shade of the tree.

(A) near
(B) beside
(C) with
(D) in

Answer: d
3.: Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select 'No
improvement required'.

Is this the same book like our teacher recommended?
(A) No improvement required
(B) same book who
(C) similar book that

(D) same book as

Answer: D
4. Select the correct indirect form of the given sentence.

Mother said to her, “Paint the river blue.”
(A) Mother said her to paint the river blue.
(B) Mother told her to paint the river blue.
(C) Mother told to her paint the river blue.

(D) Mother asked her paint the river blue.

Answer: B
5. Select the most appropriate word for the given group of words.

A ruler with complete power over a country


mailto:apanacareerssm@gmail.com

(A) democrat
(B) aristocrat

(C) traitor

(D) dictator

Answer: D
6. Select the most appropriate ANTONYM of the given word.

SUPPRESS
(A) Abolish

(B) Release

(C) Quash
(D) Contain
Answer: B
7. Given below are four jumbled sentences. Select the option that gives their correct order.
A. Robert waited for his brother to leave.
B. He climbed in and then just sat there thinking.
C. His thoughts were totally focused on his brother.

D. Then he quickly made his way to his truck.

(A) CADB

(B) ABDC

(C) ADBC

(D) CDAB

Answer: C
8. Anthony Abraham, a 34- year old crane driver, (1) ----- managed to get out of the way of falling steel. Turning around, he could
hardly believe the (2) ----- scene that lay before him. Girders were (3) ------ on top of the crane In a haphazard fashion, like gigantic pick up
sticks. All he could see of the machine was its rear wheels and a section of what had been the cab. Abraham (4) ----- to the cab, shouting
his friend George Burns’ name . By then, three other iron workers had reached the (5) ----- of the carnage. One of them yelled, George,

can you hear me? Over the din of the diesel engine, a strained voice responded

Select the most appropriate option to fill in blank number.1

(A) Simultaneously
(B) substantially



(C) rarely

(D) barely
Answer: D
9. Anthony Abraham, a 34- year old crane driver, (1) ----- managed to get out of the way of falling steel. Turning around, he could
hardly believe the (2) ----- scene that lay before him. Girders were (3) ------ on top of the crane In a haphazard fashion, like gigantic pick up
sticks. All he could see of the machine was its rear wheels and a section of what had been the cab. Abraham (4) ----- to the cab, shouting
his friend George Burns’ name . By then, three other iron workers had reached the (5) ----- of the carnage. One of them yelled, George,

can you hear me? Over the din of the diesel engine, a strained voice responded

Select the most appropriate option to fill in blank number.2

(A) Pleasant

(B) criminal

(C) crooked

(D) horrible

Answer: D

10. Anthony Abraham, a 34- year old crane driver, (1) ----- managed to get out of the way of falling steel. Turning around, he could

hardly believe the (2) ----- scene that lay before him. Girders were (3) ------ on top of the crane In a haphazard fashion, like gigantic pick up
sticks. All he could see of the machine was its rear wheels and a section of what had been the cab. Abraham (4) ----- to the cab, shouting
his friend George Burns’ name . By then, three other iron workers had reached the (5) ----- of the carnage. One of them yelled, George,

can you hear me? Over the din of the diesel engine, a strained voice responded

Select the most appropriate option to fill in blank number.3

(A) Riled

(B) dived

(C) duped

(D) duped

Answer: D

11. Anthony Abraham, a 34- year old crane driver, (1) ----- managed to get out of the way of falling steel. Turning around, he could

hardly believe the (2) ----- scene that lay before him. Girders were (3) ------ on top of the crane In a haphazard fashion, like gigantic pick up
sticks. All he could see of the machine was its rear wheels and a section of what had been the cab. Abraham (4) ----- to the cab, shouting
his friend George Burns’ name . By then, three other iron workers had reached the (5) ----- of the carnage. One of them yelled, George,

can you hear me? Over the din of the diesel engine, a strained voice responded

Select the most appropriate option to fill in blank number.4

(A) Raced
(B) shoved

(C) assisted



(D) halted

Answer: A
12. Anthony Abraham, a 34- year old crane driver, (1) ----- managed to get out of the way of falling steel. Turning around, he could
hardly believe the (2) ----- scene that lay before him. Girders were (3) ------ on top of the crane In a haphazard fashion, like gigantic pick up
sticks. All he could see of the machine was its rear wheels and a section of what had been the cab. Abraham (4) ----- to the cab, shouting
his friend George Burns’ name . By then, three other iron workers had reached the (5) ----- of the carnage. One of them yelled, George,
can you hear me? Over the din of the diesel engine, a strained voice responded

Select the most appropriate option to fill in blank humber.5

(A) Trace
(B) scene

(C) sign
(D) sight

Answer: B
13. Select the most appropriate meaning of the given idiom:

To be off the book

(A) To bein trouble

(B) To be trapped

(C) To be close to the target

(D) To escape a difficult situation

Answer: D
14. Select the INORRECTLY spelt word.

(A) Glade
(B) Gleam
(C) Glich

(D) Glove

Answer: C
15. Select the correct synonym of the given word.

PATHETIC

(A) pitiful

(B) Curious

(C) insignificant
(D) Dull

Answer: a
16. Select the most appropriate meaning of the underlined idiom in the given sentence.

The people were scared because the burglar was at large.

(A) not caught

(B) very dangerous
(C) very famous
(D) behind bars



Answer: A

17. The given sentence contains a grammatical error.ldentify the segment that contains the error.

The man whose sitting at the corner table is my uncle.
(A) at the corner

(B) is my uncle
(C) whose sitting

(D) The man

Answer: C

18. Identify the segment that contains a grammatical error. If there is no error, select’ No error’.

Various initiatives was taken by the government to help the farmers.

(A) to help the farmers
(B) no error
(C) Various initiatives was

(D) taken by the government

Answer: C
19. Given below are four jumbled sentences. Out of the given options, select the one that gives their correct order.

A. On either side of the trunk there are a few scattered tufts of short grass.
B. it is towards one of these fallen trees that | am now looking.
C. Avery violent cyclonic storm has struck the forest, uprooting a number of trees.
D. The trunk of the tree is ripped apart and the branches are lying all around it.
(A) CDAB
(B) CBDA
(C) ADBC
(D) ABDC
Answer: B

20. Select the most appropriate ANTONYM of the word ‘Facilitated’ from the given sentence.
The author's recent bout of writer's block had hindered her typically prolific output of novels.

(A) Hindered
(B) Output
(C) Prolific
(D) Bout

Answer: a
21. Select the correct passive form of the given sentence.
He drank a lot of coffee before the marathon.



(A) A lot of coffee was drunk by him before the marathon.

(B) A lot of coffee was drunken by him before the marathon.
(C) Aot of coffee had been drunk by him before the marathon.
(D) Aot of coffee is drunk by him before the marathon.

Answer: A
22. |complimented him............... his succes in the examination.
(A) at
(B) on
(Q about
(D) for
Answer: B
23. In the following sentence, four words are underlined, out of which one word is incorrectly spelt. Identify the INCORRECTLY
spelt word.

Seema was a timid girl. She did not talk to people who were not familiar to her. She was an introvert since adolosense .

24.

(A) adolosense
(B) familiar
(C) timid

(D) introvert

Answer: a

Select the option that can be used as a one-word substitute for the given group of words.

A large group of people

25.

(A) Population
(B) Congregation
(C) Posse

(D) Horde

Answer: D

Select the most appropriate option to substitute the underlined segment in the given

sentence. If there is no need to substitute it, select ‘No improvement'.

India has lost a veteran actor with the deceased of Shriram Lagoo.

26.

(A) No improvement
(B) demise

(C) bereavement

(D) expired

Answer: b
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(A) &
(B) iy
(C) g



(D) &=y

Answer: C
27. fawafaf@a wea & e 7w Reedt F & srawr s/t & 9w |

(A) BDEF
(B) LMNO
(C) NKL

(D) ABCD

Answer: B

28. i R aw waar #, AR wEA TewA Ru avw § v@AF goA A () F a1 AR 7w () F andt dw d ad
e ¥ R as/fagaeey @ @9fd @1 i 39w sl ve aF @AEE / g9y § IR W §Ae ¢ Re v et &

¥ Rya # gfw |
(A) 44-84
(B) 14-26
(C) 18-34
(D) 16-30

Answer: A

29. 3@ RAFed & 9 F AN THd NW-HAE ¥ 3 IFR OO ¢ 0 IR qur MeW- WHE Ted HEW-THE &

wafta § 3 dter sew-weg X sen-weg @ w6l g
DISMAY : SIDYAM :: DRIVER: IRDREV:: SAFARI : ?

(A) SAFIAR

(B) FASIRA

(C) FSAIRA

(D) IRAFAS

Answer: B

30. YW & FEY 'HT § 3W YHR § A4 TIRR' FT FEYT "y gl

(A)  wf
(8) faega umr
(C) areest

(D) *T

Answer: B
31, <9 9= & 9O N, O AN 9T 9 3le S UaR 9eftd 7, O UeR, gE e,

Ugell AT | e
83:121::12:7?
(A) 9
(B) 54
(C) 76

(D) 3

Answer: A

32. WEHl AU WX ¥ FAFed 3av e A 3 atsr welh 40 A & a1q g7 ad Ash ¥ 3k 75 Hew aF gz ¥
67 a8 arft A A3 3 30 Hiew g, st T arRft 3T 3R 75 Aex S TF Ia A frw Rar 7 Qs @ o9



(A) gfeyor
(B) Iwl
() gfR=Es
(D) 9@

Answer: D

33. e "FRETSAW " & Y& ¥GX &I (A quiATe FH & 3HS dI¢ 3o ard W F d6o 1 1ar ¢ 3R 9+
AT F A IHTAT FH H 3TF Tge AT T HeR F 9G fGAT FTAT ¥ 3T UK aa oY g A g0 & A 718w
3R T @ ggd R F fiwr IS guiATer FA A fFaa rew #2

(A) =R
(B) TH
(C) efter
(D) @

Answer: C
34. R v gaiEor B wgfaa F& F Qv fha & Reat # smaw F agar s o
1664 + 4 x2 +712 -316 =436

(A) -3k +
(B) +3 +
(€ +3i x

D) " 3k -

Answer: A

35. el & fhW oF wHead A & 98 W HEAl F Red e A FE w9 F @ W ag @ @ e
Wxww_ _Y_W_wxx_Y_Y

(A) WYXYWXY
(B) YXYYWXX
(C) WXXYXWW
(D) YXXYWXY

Answer: D
36. 9 I fAhed &1 79 BN, ST 9 wsal &1 difed AR Aie $H g B |

1. & (Tercet)

2. 5c& (Sestet)

3. are& (Octave)

4. gfqug (Couplet)

5. 4= (Quintet)
(A) 3-4-1-2-5

(B) 4-1-5-3-2



(C) 4-1-5-2-3
(D) 3-4-1-5-2
Answer: C
37. fRu T e § & S99 eR—E &1 799 R, S Fefafad swen § e e (?)
B YOI W 3T WHT 2 |
ILP, KHV, MDB, OZH, ?
(A) RVN
(B) QVN
(C) RWM
(D) QWM
Answer: B
38. = <z Aol | yeeares e (?) & Remd R B3 G SMgE?
8, 16, 12, 32, 16, 64, ?
(A) 18
(B) 24
(c) 32
(D) 20

Answer: D
39. & wE el A fhad B 82

(A) 8
(B) 11
() 12



(D) 15

Answer: C
40. i gdor &1 feErgaRr MN W <=1 5, a1 fog T SareE &1 9o § A |8 ufafd
BT FIT PN |

dbvyfqg

biyvdb
pPtAVAD
ptyvdb

41. vs fAf¥gd @ v § TOGETHER @1 119 ferar Srar g ik MASTER @1 87 foram Sirar & | S T 3, REVERSE @1 @ forr smom?

(A) 94
(B) 98
(C) 96
(D) 92



Answer: B
42. u® fAREm @me 9 4, afs ‘CRECH’ &1 ‘DTHGM’ foar S 8, @1 S & w1
# ‘FETCH’ &' @ forar Sy ?
(A) GHVHM
(B) GGWGM
() GGWHN
(D) GHXGM

Answer: B
43. TP & U B AT AaT—arerT Rerfori guiE € 1S9 WA & whd By, S g1 ared

Hold & I Bl TR BT

(A) 5
(B) 2
(C) 6
(D) 4

Answer: C
44, T P & a5 9 ey |, 1 &R 1 g 77 8| FeFl &1 9 A9 §Y, 9o 8 3

A w9 W S 9l 9 e geiid ' 1, iR a) f B |1 /9 ey st @1

TS ®Y A STARY BT /IR B /B |
PU:
w4 <fE, SR 2 |
o o, faer 2|
forp:
w 3o <, e 2|
w Fo <, et 78 2|
ww B o, <M 2|
(A) frepd 11 3 111 QT srgeror oea # |
(B) dact Frsps | SreRer el ¥
(C) Baet Frpd 111 SgeRor et 2



(D) @adt =y |1 SrgERYT F=AT B |

Answer: C

45. U 7T yeal B ATHIA F FAGER SAARTT FA W HIA-TT Meg dAY TIT TN

JATeEn?
1 Periwing 2 Perilad 3 Perimeter 4 Periodic 5 Perish
(A) Perimeter
(B) Perish
(C) Perilad
(D) Periodic

Answer: D
46. G, H,1,J, K3R L va ufd § 3fEor o ok 4@ ova 38 21 H, | & 9 iR §1a a71a

I3 21 |, G a8 3R = = R Fo1 21 K, L3R J &1 oS’ 2| 98 =i, Sif
J& TR R TR I R 8, 5l v AR R 81 K& 3E 3R 314 doT 87

(A) J

(B) |

()L

(D) H

Answer: C

47. 3@ AT IR@ FT 99T Y N PeAf@d F T 9 ) gafad 9 F gaar B

w €90
(B) {\CD @

(©)

HOZ

Answer: a
48. Ry Y e o1 SAYdd I N IR I8 W& g ST yeArasd (?) & W W A Ghdl 57

3 11 2
5 11 7

13 7 18
(A) 33
(B) 27
(C) 29
(D) 31

Answer: ©



49,

26 sI9eT 1994 FY WTAIE T HisT AT &1 am?

(A)
(B)
(€)
(D)

IfarR
TFAR

)

YshdX
1)

THAR

S

Answer:

A

50. 39 IHfA F 9a AT Y A & 75 s@en & e feaq (2) F Ty w 3wEh)

\ 4 L 2 N
1 Y e _q:‘\
> h &
. *
' A
@
(A)
L 4
(B) -
.
' ¢
()
o -
L
(D)
Answer: D
+~30f3+2 +4+(4 xX2-2)+12+4
51. 3 BT A fobeaTr 872
12

(A)



Answer: B

52. & HEIT3Ht FT AR 1564 E T8 FEAT A S ¥ RWOT F G, &0 AT & T F 6 AN AFAT F T H
19 yIvd graT &1 oY wEdr Fur $?

(A) 287
(B) 309
(C) 456
(D) 623

Answer: B
53. X®rama Y @ ama 9 42% 1fde & 9o Z 91 3, X 3R Y &) g & I | 45%

DB Z D /M, X B 1 ¥ fha uRerd &4 8 (ST & UH RIH I6 Fal)?
(A) 5.6%
(B) 5.9%
(C) 6.3%

(D) 6.7%

Answer: C

54. ?If%xmﬁ&ﬁaﬂﬂﬁwmaﬁsﬁ%ﬁwwa%wésﬁ?gﬁm%%aﬁx
BT 79 74T 27
(A) 12
(B) 18
(C) 16

(D) 15

Answer: C

55. 10,000 HFT FT IFJT GIGA T TF GHEGR T AEH F 500 HT Fole T UG AT §1 $0F e, H3e
FT$ FT 3T FF GG FA W, I@ 7% 1 AfaRaa ge a1 ¥ IR F§ ameF F¥e F1E 1 39301 FT 110000 F7
AT @lGdT ¢, at 38 fraar sperdrer Far ghm?

(A) X8,835



(B) 9,000
(C) %9,300
(D) 8,815

Answer: a
56. fofae #r 31y, et & 3 a¥ geamw, Bifaw it adee 3y 3R 8 a¥ qF W I & Jdtwa & Qe el 5 ad
9@ fSfas 1 3y frast ot 2

(A) 6 a§
(B) 7 a¥

(C) 11 a¥
(D) 8 a¥

Answer: A
57. %2,700 WX 8 A & v 5 30 9fy Tud ufy A T T T ATYRYT qoT AT hfore?
(A) 950
(B) 720
(C) 1,080
(D) 540

Answer: C

58. felt HEua w2 a¥ § AT v AT suer g7 W WURr sArer 3R aFgEfr surer (a1 HANSTT) FAA: Rs.
1600 3 Rs. 1760 ¥1 HerteT FAT 72

(A) Rs. 4000
(B) Rs. 6000
(C) Rs. 10000
(D) Rs. 7000

Answer: A
59. AR B @l amg &1 argu 3: 5 7, ok S99 g=a Fw: Rs.14,000 3k Rs.20,000

T afe S8 Al &1 U 417 8, O A @1 3 (Rs. ®) 59 SR |
(A) 42,000
(B) 54,000
(C) 57,000
(D) 60,000
Answer: B
%Qﬁ?ﬁmﬁ@aww(wﬁ)maﬁw4:3%|aﬁgﬂﬁ4sﬁaqﬁﬁwmaﬁ argura 1 : 1 81 ST € | gReemedl fHsir # e @t A
(A) 16 efiex
(B) 20 =frex
(C) 18 hex
(D) 12 <frex



Answer: A
61. A, 37del AR Qe T FUR A WSER &1 TH 6500 3.6 HIE deh, 3ol 8402 T.5 HIg oeh T GI9sh 10000 &. 3
ATg & foU fFder fham| I AuR & Afha AR § 3R 98 @1 @1 5% 3T  AdT § | I Fer e 7400 T A
A T Fol fohelel TIT 1T T 2

(A) 2660%.

(B) 2840%.

(C) 2800%.

(D) 1900%

Answer: B
62. U U TS IRW BT AT B 3R 9 J29 3T S ¢ |

Number of different type of vehicles (in lakhs)
exported by a company in 2014 and 2015

=
2 w0
- 55
= 50
T P a5
£ 40
S 50
35
% 33 N
2 30 27 2 » 2014
5 20 = 2015
°
= 10
$
= 0
- A t C D

Type of Vehicles

2014 # foafa fby v B, C 3R E ybR & drg+i & gt e, 2015 # faifd fby

T A, B, C,D 3R EUYBR & drei & g1 wean &1 fhaar ufoRrd ® (Th <o
I T& quTifd) |

(A) 62.4%

(B) 53.6%

(C) 63.8%

(D) 61.6%

Answer: B
63. UET X 3R Y Th & B B9 30 e 3R 45 AFe § WR Aad 8, Safe urzy Z

I W T BT L Ee # @rell IR G & | argd X R Y B s @y 10 e &

fow @ra faar | R ursy X @1 48 axa, Jfor Uiy Z &l @i faar mam ek

sy Y A GAT @1 B B PH F G WA H I aTel Fel qHI DI A0 BN |
(A) 75 fFe



(B) 90 farre
(C) 80 fime

(D) 100 fire

Answer: B
64. A fF MiRad g8 @1 39 = Il & |1 99 @xan 8, vget 3 km @ g 9 km/h @t wfy & wer, @9 6 km @1 g9 15 km/h 1 T1fd &
e, SR TR 9 km @t 18 km/h @t i & 1T 79 vt 21 A @ g9 I @ i T feaer 82

480
= km/h

(A)

540
= km/h

(B)
460

== km/h

(€)

660
== km/h

(D)

Answer: B
65. TH FARIT Forer F IR Fad @t o 26 cm ¥ IR T HoI H @ vF 24 om B, A AW oo A darE AT
o

(A) 18cm

(B) 10cm

(C) 12cm

(D) 20cm

Answer: B
66. fy=ifea % 4 fafi= @i A, B, C3iR D & a1 ta 9% & Wy el iR af¥a emwifdy qeriar & |

T BT LTI PY AR SHD 918 T MY Y Bl SR © |



20000

fraftre vwofr (e o)

:
g :
15000 g
10000 i
5000
0
A B C D

T =T % 8.5% a1 &, a1 3auf & are C &I U< 8 dTell G-I A HIfow |
(A) Rs.27,600
(B) Rs.25,600
(C) Rs.25,610

(D) Rs.27,610

Answer: D
67. s ue & fa@ol &1 aif 2346 cm® & | B9 @1 quf g Ehel (Cm?) ®) ST IR |

(A) 4296
(B) 4692
(C) 4629

(D) 4269

Answer: B

68. IL a-b=8 31X 4ab=84,dt 3a°-3b> FT AT FAT B2
(A) 1018
(8) 1016

(C) 3048
(D) 2032

Answer: C
69. x+3(y + X -2)-(x+y) BT TS W

(A) 3x+2y-6
(B) 2x+3y-6
(C) x+2y-6



(D) 2x+y-6

Answer: A

o o LA
70. R F AT For g AR A-B=45 FIRB-C=15 ¢ga =7

8]
(A) 85
[ 8]
(B) 75
8]
(C) 95
]
(D) 83

Answer: C
71, fd ga i IR W wF Sar AB g@rT afka #:or 90 Baft §1 I SNar A #it &a1$ 16 cm &, & 56 g7 A frow
faraett grefr?
(A) 12cm
(B) 10cm
(C) 9cm
(D) 8cm

Answer: D

2

2
sin J3
72. sec?54°-cot?36°+ 37° xsec2 53° +

V3 tan60° T FART T L

(A)

(B)

(©)

Ml R~ RO W

(D)

Answer: B

73. T @31 TE AfFT 1000 m Y FATE ATell SHRA A @ ol IARA & oM 3k srefer & o &1 *lor 30° 31 7@
afFd 3ART & emrer fraelt gt (fiex #) 9 @ B2

(A) 1732

(8) 1000

(C) 1542

(D) 936
Answer: A

74. I tan(x+y)=1 3T cos (x-y) = V3/2, @ x 3 yFT AT FAT &2

(A) X=4.5,y=3
(B) x=7.5,y=37.5



(C) X=37.5,Y=7.5
(D) X=3,Y=4.5

Answer:

C
4 1
75. uﬁx>ox +x4=142%,?frx +xT$rmmg17rr?

(A) 156014
(B) 1562v14
(C) 1561V14
(D) 156314

Answer: c

76. ETALT 2024 T HT A F s, fR AT A § ST 20 A9t § goga & G G AT hied| v 6T g srtern off?

(A) 2020
(B) 2021
(C) 2023
(D) 2019

Answer: C

77. TOEH U I 2023 (Sports and Games 2023) H IHE a9 # o0 (5[ TEwe & G¥ATHG g A9 Feforfed & & e aa &
Tafed faarst 82

(A) HegaTSIT
(B) @T-®&T
(C) =TSt
(D) Fegt

Answer: D
78. TEES-VII' (GARUDA-VII) TTH H<h AT AT THATH foheieh a1 STATTSIT gaTl &T?

(A) ST 3% qeform
(B) TET < WA
(C) AT i< aferor shverT
(D) WA ST =19

Answer: B

79. HATH 2024 § HUF 97 FaAGr AN (PKL) F A= 10 § Fafertaa § & g &9 7 sfiq grree e

(A) g e
(B) T Ueed

(C) weaT uTEgEA
(D) S fuF Foe

Answer: B

80. HETIG2rS JeheT UTel, TATTHTH, W, ETH (AVSM, PTM, TM) HIRAIT de8Teh dof oh---- AZTHETF

(A) 20
(B) 255



81.
qq1?

82.

83.

84.

85.

86.

(C) 279
(D) 223

Answer: B

fordee-srazav 2024 ¥ FiverTasr F e Teft 12 <1 a5 F=4i Y Fhre HOS | FA-A7 G e Berst waw s 7 H

(A) =T 9q

(B) TerEET STHHATA
OB EEFSEIRE]
(D) ST A"
Answer: C
T T TR R 3er | It 82
(A) STTITH

(B) =TwiE

(C) 9Ta

(D) riYET
Answer: c

AR R Y FIfART3T F 3l 3150, -—glar gl

(A) FE3iTeFIRTSaIgarolleh 31FaT (deoxyribonucleic acid)
(B) FFW{@H’T 31&dT (sulphuric acid)

(C) 3iTrdfae 3T (oxalic acid)

(D) TI%‘@T{%FFF T Yribonucleic acid)

Answer: a

ol FAS TR gEATERbll FETeAT el 3R &

(A) STATETAT HEs

(B) =Y. &T 3T, A= HT
(C) AT = &TH

(D) IR ToAANTE TA

Answer: b

faaTea stierew Raferiea & & s g § 9= T @ o

(A) STferETaTET ST geaThie
(B) SETHA THTSH T farere
(C) el UF=

D EEEEIREEISE]

Answer: B

TYTTHAT St ST AT Frsr Referfea § & e defaT 22

(A) ToreT ft 1T & g gHeAT & forw At AT FaT T&T F3A ATl U |1 JIST

(B) =ttt & for forear waTe e arelt w97 Trerm

(C) Toreft ot =TT & Yo E1 UX Straw ST Fa< &I T ATl SHT FITT

(D) Tereft oft FToT & FI AT TeeAT *F T I[g FHT Fa¥ TGTF FIF ATAT T FTHT TS



Answer: C

87. RIT #T HIAT UF FaTal TTFHTLT (Kachhwaha princess) 2T, STT---- % TSTId oma it =T T

(A) ATZETE (Marwar)
(B) ¥ATE (Mewar)
(C) 41X (Berar)
(D) 3faT (Amber)

Answer: D

88. fAwforferd & & r9-|T TaT &1 #1d 721 87

(A) =@ TS (Unit of account)

(B) fafama wreaw (Medium of exchange)
(C) T 3 (Eradicate Poverty)

(D) ¥ =T H=F (Store of Value)

Answer: G
89. & =T (Luminous Intensity) T TH TS, (SI) THTS 4T &2

(A) FeIT (kelvin)
(B) =T (candela)

(C) ST (joules)
(D) =TT (watt)

Answer: B
90. W & AHfeEd arEhaT RSe T ITC | 60 TF T Tol HF 39T 52

1 2 - F@rar 2 999 3 AwE
(A) 1,2,3
(B) 1,32
(€) 3,1,2
(D) 2,3,1

Answer: A

91. @FS AT ITSHYT T SITE AT ST T % TATA TFTATS FT IR AL 6 T FAT g1 B3 e & =

(A) 2023
(B) 2018
(C) 2020
(D) 2021

Answer: D

92. 1 3 F I¥TET ZraT gl

(A) 107
(B8) 10”)
(C) 1861
(D) 107

Answer: D

93.  HRJ Y 3TEAT YIS AVsTelT o 37T hieT A?



94.

95.

96.

97.

98.

99.

(A) 9. af@Fer va
(B) s HIEY

(C) 37coT T8I areTar
(D) HeIHTET &g

Answer: A

HTH (Ghatam) 216G ShatTcdh TN TGl H UI: IUINT T SA1eY arel fohd ATl aey & Heed 672

(A) Ei\_rm'(Tambourine)
(B) E';I'igl'(CymbaIs).
(C) #HcaT (Pot)

(D) S (Drum)

Answer: C

AT HTSTLT T HIA-AT Ao T o g AT TSl § IF FTATAAT % T34 F Haterd &2

(A) TR 2398
(B) == 241
(C) sTT=== 239
(D) =T 252

Answer: B
TAITITIT ¥ (Neolithic site) FTATT (Kupagal) fohe 7157 & forg 272

INEIEREECE:
(B) FATeH H
(C) deRT=T H
(D) FAH

Answer: B

Fuferfaa & & #i=-a7 srfarfaa g & 3g =t it e § gefed 82

(A) ST TLHTE AT, 1861

(B) TTea ufvwre srferf=ra; 1861

(C) AT 3 =TT ATAIH, 1861
(D) st wfaem srfafaam, 1945

Answer: C

AR #, el & & v Ts7 o $¥ St § oo Afgensit & foaw TANWA TRITSTET F i &2

(A) 38H

(B) dfAIg
(C) dmar

(D) afeTaT SaTTer

Answer: b

T FETE FTE (Soil Health card) FrsHT # Aferiera a+t oo &, famg----



(A) TO= TorTstt & qToe qeat i FHT A T FA F (o70 UF AT TG FHLAT
(B) T&T TEXEAT STANTEITATA hT SHTASOTTeAT T foehTer Sfi¥ ggdianeor

(C) ToRETHT T 3T T[T FeAT

(D) T T THET AFATHT ST IATHI 6 HAd START &l TRTAT AT

Answer: C

100. =T & & w=-H Famar oriRafaEdt (Savanna ecosystem) @ & 91t STy ATedt qex ToIT 872

(A) St&T
() @it
(c) =
(D) 9%

Answer: B



